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Integers: Worksheet -3 

1. Which number is to the right of the other on the number line? 0, –1  

            (A) 0 is on the left of 1  (B) 0 is on the right of 1       [        ] 

(C) 0 is on the right of –1  (D) 0 is on the left of –1 

2. Which number is to the right of the other on the number line? 2, 9  

(A) –9 is on the right of 2  (B) 9 is on the right of –2      [ ] 

(C) 9 is on the right of 2  (D) 9 is on the left of 2 

3.Which of the following lies to the left of –24 ?   [ ] 

(A) –23                     (B) 25                (C) – 25               (D) 23 

4.Which of the following lies to the left of zero ?   [ ] 

(A) positives             (B) Negatives     (C) All integers      (D)No integer  

5.Which of the following lies to the right  of –24 ?   [ ] 

(A) –23                     (B) 25                (C) –25               (D) 23 

6. The mid value of number line is _________. 

7. In the number line the positive integers in _________ side of zero. 

8. In the number line left side of zero represents ______________ integers. 

9. In the number line the integer ‘a’ is right side of the integer ‘b’ then     

a ___ b   (>, <, =). 

10. The integer right side of zero is _________. 

 

 


